28,1 3) 2kl @y inedl jouns]l)

K@ 0 L0

powl:

8.144
—2.683

4.808
—2.766

9.494
-8.176

5.527
—2.928

8.49
-6.073

4.626
-9.318

9.454
—9.661

5.478
-9.233

6.214
-9.794

3.674
—-5.649

8.781
—6.228

4.725
—/7.036

6.006
—3.386

4.832
—-8.155

9.919
—2.548
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8.3
—-2.044

6.51
—2.455

4.275
—8.762

9.298
—5.362

4.701
—4.948

0.301
—-6.064

1.765
—-4.223

1.601
—-2.41

6.644
—7.052

5.573
=/.775

Tl
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26,1 3) 25kl &yl Hgwsl)

powl:

8.144
—2.683
5,461

4.808
—2.766
2,042

9.494
-8.176
1,318

5.527
—2.928
2,599

8.49
-6.07/3
2,417

¥&040

4.626
-9.318
-4, 692

9.454
—9.661
-0, 207

5.478
-9.233
-3, 755

6.214
—9.794
-3, 58

3.674
—-5.649
-1,975
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8.781
—6.228
2,553

4.725
—/7.036
-2,311

6.006
—3.386
2,62

4.832
—-8.155
-3, 323

9.919
—2.548
7,371

8.3
—-2.044
6, 256

6.51
—-2.455
4,055

4.275
—-8.762
-4, 487

9.298
—5.362
3,936

4.701
—-4.948
-0, 247

2w,

0.301
—6.064
-5,763

1.765
-4.223
—2,458

1.601
—2.41
-0, 809

6.644
—/7.052
-0, 408

5.573
—-/.775
-2,202
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